
L2(27).2 (mod 13)

blocks defect matrix

G : 1 1 8× 2
2 1 8× 2
3 0 261 = χ2+, ϕ2+

4 0 262 = χ4,0, ϕ4,0

5 0 263 = χ4,1, ϕ4,1

6 0 264 = χ5,0, ϕ5,0

7 0 265 = χ5,1, ϕ5,1

8 0 266 = χ6,0, ϕ6,0

9 0 267 = χ6,1, ϕ6,1

10 0 268 = χ7,0, ϕ7,0

11 0 269 = χ7,1, ϕ7,1

12 0 2610 = χ8,0, ϕ8,0

13 0 2611 = χ8,1, ϕ8,1

14 0 2612 = χ9,0, ϕ9,0

15 0 2613 = χ9,1, ϕ9,1

blocks defect matrix

2.G : 16 1 13× 1
17 0 2614 = χ19,0, ϕ13,0

18 0 2615 = χ19,1, ϕ13,1

19 0 2616 = χ20,0, ϕ14,0

20 0 2617 = χ20,1, ϕ14,1

21 0 2618 = χ21,0, ϕ15,0

22 0 2619 = χ21,1, ϕ15,1

23 0 2620 = χ22,0, ϕ16,0

24 0 2621 = χ22,1, ϕ16,1

25 0 2622 = χ23,0, ϕ17,0

26 0 2623 = χ23,1, ϕ17,1

27 0 2624 = χ24,0, ϕ18,0

28 0 2625 = χ24,1, ϕ18,1

29 0 2626 = χ25,0, ϕ19,0

30 0 2627 = χ25,1, ϕ19,1

Block 1: ϕ1,0 ϕ10,0

11 = χ1,0 1 .
271 = χ10,0 . 1
281 = χ11,0 1 1
283 = χ12,0 1 1
285 = χ13,0 1 1
287 = χ14,0 1 1
289 = χ15,0 1 1
2811 = χ16,0 1 1

ϕ1,0 = 11
ϕ10,0 = 271

Block 2: ϕ1,1 ϕ10,1

12 = χ1,1 1 .
272 = χ10,1 . 1
282 = χ11,1 1 1
284 = χ12,1 1 1
286 = χ13,1 1 1
288 = χ14,1 1 1
2810 = χ15,1 1 1
2812 = χ16,1 1 1

ϕ1,1 = 12
ϕ10,1 = 272



Block 16: ϕ11+

2813 = χ17+ 1
2814 = χ26,0 1
2815 = χ26,1 1
2816 = χ27,0 1
2817 = χ27,1 1
2818 = χ28,0 1
2819 = χ28,1 1
2820 = χ29,0 1
2821 = χ29,1 1
2822 = χ30,0 1
2823 = χ30,1 1
2824 = χ31,0 1
2825 = χ31,1 1

ϕ11+ = 281


